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B.A. Honours Part-l11 Examination, 2019

HISTORY
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Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. efifem ST 547 F 5 eI e T 1
Candidates should answer in their own words AT e QT T ST ARG I
and adhere to the word limit as practicable. eq A
GROUP-A

o5

1. Answer any four questions from the following: 5x4 =20
kRS @I 51Ffb aea Ted niss

(8) How did Voltaire influence the French Revolution?
TS Frel T [es ereife FEiRE ¢
(b) What was the ‘ Civil Constitution of the Clergy’?
qeFNGHAR N9ITF =g 7 e 2
(c) What were the principles of the Vienna Settlement?
I a2 Aol F foe o
(d) Towhat extent was the policy of Terror in France justified?
I AR AN FO6! iy e 9
(e) What wastherole of Louis Kossuth in the Hungarian revolution?
eEr K 52 Ik ofist i fw ¢
(f) Write ashort note on ‘Little Napoleon’.
FY (AR -9 T7i7 @30 W e Bl e
(g) Why did the uprising of Paris Commune break out?
IR FRIGET TG (o 2T 9
(h) How did the First World War lead to the collapse the old empires?
2% [egm FeIR Feen AFerelm oew 72 Feafee 9
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Answer any four questions from the following

e - oA et T wie

Analyse the socio-economic crises on the eve of the French Revolution.

TR R R AN @ GLAoF Wb =icEv Tl

Make an assessment of the Jacobin Republic. Was the Terror justified?
SR SeTorEs G TR Sl | 72 6 Ierrrs fee 9

Would you agree with the view that * Napoleon was the Child of the Revolution’?
“Tesiiforae el e foree— gffl & @2 5o sda < 9

How did Metternich try to create a conservative system in Europe? To what
extent was he successful ?

GBS FreiCa BN G {6 FFeIe I 20T GoTeo (TRt ¢ fofd Foxify s
2R 9

Do you think that the main centre of revolution of 1848 was Central Europe and
not France?

O & N 0 @ Y-8 AT [RAEE 24l (v o1 W4y TSR, 1o o7 9

Was German unification achieved more by ‘coa and iron’ than by ‘blood and
iron’?

wifiae @3 effE & 9@ ¢ @7 Afe S e ¢ @7 e 7/ @R e
e 9

How did industrialisation in Europe create a new working class? Show how trade
unionism and labour parties emerged through the struggles of this class.

BRI Mg FTei IS (6 g NG @A 90T (916 9 «2 @A™ FRACE )
FISI (BT TTfeae @R ¥ werafe a10s @ts 9

Can the period 1870-1914 be termed asthe “ Age of Imperialism”?
Sbrq0-3538 FNER TS| FIA [ NI Tor I T 9

Why were the Bolsheviks successful in the Russian Revolution of 1917? Was it
merely a handiwork of Lenin?

Y939 AR T R IeeFal (e w72re Zeafeet ¢ «ft [ @<t @fercea S Tt 9
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